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Y5	Sp10	 YEAR	5	-	SPRING	TEST	10	
First	Name	 	 Class	 	

Last	Name	 	 Date	 	

	 TOTAL	
MARKS	 /24	

 
 
1   645 +  = 928  

 
 
 

 
 

 
1 mark 

  
2   42 =   
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3   12 x 500 =   

 
 

 
 

 

 
1 mark 

  
4    = 81 ÷ 9  
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5   87.3 x 100 =   

 
 

 
 

 

 
1 mark 

  
6   2 = 25  
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7   6000 ÷ 10 =   

 
 

 
 

 
 

 

 
1 mark 

  
8   14 x 0 =   
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9   7823 – 27 =   

 
 
 

 
 

 
1 mark 

  
10   704 - 250 =   
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11   6 x 4 x 23 =   

 
 

 
 

 

 
1 mark 

  
12    ÷ 7 = 172  
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13   22 ÷ 1 =   

 
 

 
 

 

 
1 mark 

  
14    –  =   
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15   726 – 82 =   

 
 

 
 
 

 
1 mark 

  
16   33 =   
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17   49 =  x 7  

 
 

 
 
 

 
1 mark 

  
18   72.9 ÷ 100 =   
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19   8006 – 2736 =   

 
 
 
 
 
 
 
 

 
 

 
1 mark 

  
20   76 + 2 + 8273 =  
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